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QUESTION 1

What are two ways in which the NetScaler TCP buffering feature improves application performance? (Choose two.)
A. Buffers the client request

B. Buffers the server response

C. Forwards the response to the client at the speed of the client network

D. Forwards the request to the server at the speed of the server network

Correct Answer: BC

QUESTION 2

Scenario: An engineer has three subnets configured on a NetScaler appliance. The engineer must only allow a certain
group of users to access a virtual server on the appliance. The IT Manager requires that all rules are flexible and can be
easily modified for ease of administration.

How could the engineer allow certain groups to access the virtual server while still being able to modify the setting in the
future?

A. Add a Simple ACL.

B. Disable USNIP Mode.

C. Create an Extended ACL.

D. Add a Host Route to the virtual server.

Correct Answer: C

QUESTION 3

Scenario: A security test has shown that the NetScaler is forwarding IP packets. Company standard operating
procedure is that the routers should be the only devices forwarding packets.

Which step should the network engineer take to prevent forwarding packets?
A. Enable Layer 2 mode.

B. Disable Layer 3 mode.

C. Disable Path MTU Discovery.

D. Enable MAC based forwarding.

Correct Answer: B
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QUESTION 4

The upgrade script copies the updated NetScaler kernel file to the NetScaler directory. (Choose the correct
option to complete the sentence.)

A. Ivar

B. /flash

C. Insconfig
D. /flash/boot

Correct Answer: B

QUESTION 5

Scenario: A network engineer has bound four policies to an HTTP virtual server as follows: PolicyA is bound with a
priority of 10 and has the following expression: REQ.IP.SOURCEIP == 10.10.10.0 PolicyB is bound with a priority of 15
and has the following expression: REQ.IP.SOURCEIP != 10.10.11.0 PolicyC is bound with a priority of 20 and has the
following expression: REQ.IP.SOURCEIP == 10.10.12.0

PolicyD is bound with a priority of 25 and has the following expression: REQ.IP.SOURCEIP !=10.10.13.0 When a
connection is made from a PC with an IP address of 10.10.12.15, which policy will be applied?

A. PolicyA
B. PolicyB
C. PolicyC
D. PolicyD
Correct Answer: B

Don\\'t be fooled by this as the first policy to match will be used, in this case 10.10.12.15 is not 10.10.11.0 hence it
satisfies PolicyB.
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